msga-body?2?

MsgA(ds;da)
=4et x:1d fp— ds(z)?Void
xa:1d fp— State(ds)— Valtype(da;locl(a))—Prop
x kz:KndxId fp— State(ds)—Valtype(da;lof(kz))—ds(20f(kz))?Void
X kl:KndxIdLnk fp—
(tg:Idx (State(ds)— Valtype(da;lof(kl))—(da(rcv(20f(kl),tg))?Void List))) List
xx:1d fp— Knd List
x ltg:1dLnk x1d fp— Knd List
xk:Knd fp— Id List
xk:Knd fp— IdLnk List
xltg:1d fp— Knd List
X Top

clarification:

msga-body{i:1}
(ds; da)
=qet x:1d fp— fpf-cap(ds;IdDeq;z;Void)
xa:1d fp— State(ds)— Valtype(da;locl(a))—Prop;
x kz:KndxId fp— State(ds)—Valtype(da;lof(kz))—fpf-cap(ds;IdDeq;20f(kz);Void)
X kl:KndxIdLnk fp—
(tg:1d
x (State(ds)—Valtype(da;lof(kl))—
(fpf-cap(da;KindDeq;rev(20f(kl),tg); Void) List))) List
xz:1d fp— Knd List
x ltg:1dLnk xId fp— Knd List
xk:Knd fp— Id List
xk:Knd fp— IdLnk List
x ltg:1d fp— Knd List
xTop
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